
\\DC\Dessins\Dessins production\99\AGRITEX\99-57-4505.asm

AUTHOR :  F.HÉLIE

AGRIMETAL

CREATION : 08/11/23
REVISION  : 08/11/23

ASSEMBLY :

REGROUPEMENT D'AILE COTECH (JD 4R)
99-57-4505

99-57-4505

# PART # Qty TITLE
1 91-50-9000 1 FENDER SUPPORT COTECH JD 4R (RIGHT)
2 91-50-9003 1 FENDER SUPPORT COTECH JD 4R (LEFT)
3 91-04-0325 4 FENDER SUPPORT COTECH JD 4R
4 NC01-17-0261 8 HEX. BOLT GR2 NC ZINC 1/2-13 X 4 1/2'' LG
5 01-01-0925 16 WASHER
6 NC01-93-0014 8 LOCK NUT ZINC 1/2-13
7 91-42-0155 2 GUARD
8 NC01-13-0062 12 ELEVATOR STAINLESS BOLT 5/16-18 X 1''
9 NC02-22-0008 12 WASHER ZINC 5/16''
10 NC02-32-0011 12 LOCK WASHER ZINC 5/16''
11 NC02-07-0017 12 HEX. NUT 5/16-18

7

6

4

3

5

5
1

11
10

9
8

7

2


	91-99-0001 (JD 4R 6-10 B) (ANGLAIS)
	91-57-0060 (CATALOGUE EN)
	92-57-0041 (ANGLAIS)
	92-57-0046 (CATALOGUE EN)
	92-57-0051 (CATALOGUE EN)
	91-57-0210 (CATALOGUE EN)
	91-57-0055 (CATALOGUE EN)
	92-57-0195 (CATALOGUE EN)
	92-57-0201 (CATALOGUE EN)
	92-57-0206 (CATALOGUE EN)
	91-99-0001 (JD 4R 6-10 B) (AUTOCOLLANT) (ANGLAIS)



